

East Auroa School District 131 310 Seminary Ave Aurora, IL 60505

Date:

March 3<sup>rd</sup>, 2025

To:

Dr. Jennifer Norrell, Superintendent of Schools

East Aurora School District 131 Board of Education

From:

Andrew Allen, Executive Director of Information Systems/CIO

Subject:

Recommendation to purchase 1,950 Lenovo Chromebooks with

3yr Advanced Device Protection for students in grades 2<sup>nd</sup> and 9<sup>th</sup>.

#### **Chromebook Purchase:**

Seek approval for the purchase of Lenovo Chromebooks with 3yr Advanced Device Protection for students who will be in Grades 2<sup>nd</sup> and 9<sup>th</sup> for FY 2025-2026.

#### Justification:

The current cycle for the purchasing of Chromebooks is 2<sup>nd</sup>, 6<sup>th</sup>, and 9<sup>th</sup> grades every year. This year we will only be purchasing Chromebooks for incoming students in 2<sup>nd</sup> and 9<sup>th</sup> grades. Fall of 2024 the district purchased Chromebook for all students in 2<sup>nd</sup> – 5<sup>th</sup> grades. We will collect the 5<sup>th</sup> grade devices at the end of the year inspect and redistribute those devices back to the students at their appropriate middle school for FY 2025-2026. Purchasing these Chromebooks will enable students to use a wider array of accessibility features to accommodate the learner's needs. Chromebooks will integrate all G-Suite applications creating a seamless management system allowing the district to update and distribute applications and restrictions remotely. Chromebooks are easy to fix, less expensive and their batteries last all day. These devices are built for students. They are student-centered devices, with "education anywhere" being their prime purpose for existing. Many instructional staff of older elementary school students have expressed the need for students to have a keyboard for better productivity and learning experience.

#### **Board Policy:**

Pursuant to Board Policy 4:60, Supplies, materials, or work involving an expenditure in excess of \$25,000 must comply with the State law bidding procedure, 105 ILCS 5/10-20.21, unless specifically exempted.

#### **Strategic Plan Alignment:**

This recommendation supports Strategic Goal #1, Educational Equity that states the following: East Aurora School District 131 will meet the diverse needs of all student by ensuring a safe and inclusive learning environment. Strategic Goal #2, Operational Excellence that states the

Reach your full potential!



following: East Aurora School District 131 will align and utilize systems and resources that promote operational excellence, efficiency, and fiscal accountability.

## **Supporting Data:**

See attached quotes

## **Recommendation:**

It is recommended that the Board of Education authorize the purchase of 1,950 Lenovo Chromebooks with 3yr Advance Device Protection for students who will be in 2nd and 9th grades in the 2025-2026 school year. The purchase agreement would be with ChromeBookParts.com for \$649,701. District technology funding would be used for the purchase.

### **Timeline for Decision**

March 17<sup>th</sup>, 2025



1000 Kristen Ct Ste 2 Saint Paul, MN 55110, US customersupport@chromebookparts.com 
 Quote #
 QUO14276

 Date
 02/19/2025

 Expires
 03/05/2025

 Sales Rep
 RyAnn Graff

 Opportunity
 OPP7412

 Co-Op
 TIPS #230105

Ship To

Andrew Allen CAREER CENTER 411 Hill Ave Aurora IL 60505-5007 United States Bill To

Aurora East USD 131 417 5th St Aurora IL 60505-4700 United States

Item	Description	Qty	Rate	Total
UNT-LN-11-83G80000US-04/32-TXBI	Lenovo 100e Chromebook Gen 4 83G80000US 11.6" Touchscreen Chromebook - HD - Intel N- Series N100 - 4 GB - 32 GB Flash Memory - English Keyboard - Graphite Gray	1,950	\$228.20	\$444,990.00
LIC-SNG-9986	Google Management Console License for Education	1,950	\$29.99	\$58,480.50
CBP-SDR-6451	Lenovo 3Y Advanced Protection powered by Safeware to fit Lenovo 100 G4	1,950	\$74.99	\$146,230.50
		\$		

Subtotal Tax Total (%) Shipping Total Total \$0.00 \$0.00

\$649,701

1-year warranty on all parts and devices against manufacturer defects. See details at Chromebookparts.com/warranty





Hardware

Software

Services

**IT Solutions** 

Thank you for choosing CDW. We have received your quote.

Brands

Research Hub

# **QUOTE CONFIRMATION**

## CHRIS ROWOLD,

Thank you for considering CDW•G for your technology needs. The details of your quote are below. <u>If</u> <u>you are an eProcurement or single sign on customer, please log into your system to access the CDW site.</u> You can search for your quote to retrieve and transfer back into your system for processing.

For all other customers, click below to convert your quote to an order.

## **Convert Quote to Order**

QUOTE #	QUOTE DATE	QUOTE REFERENCE	CUSTOMER #	GRAND TOTAL
PHPV316	2/20/2025	DELL OPTION	333875	\$1,034,436.90

QUOTE DETAILS				
ITEM	QTY	CDW#	UNIT PRICE	EXT. PRICE
Dell Chromebook 3120 (2024) - 11.6" - Intel N-series - N100 - 8 GB RAM - 64  Mfg. Part#: YG2M1  Contract: MARKET	1910	8239630	\$370.00	\$706,700.00
Google Chrome Education Upgrade  Mfg. Part#: CROS-SW-DIS-EDU-NEW  Electronic distribution - NO MEDIA  Contract: MARKET	1910	5988499	\$30.00	\$57,300.00
Dell Upgrade from 1Y Mail-in Service to 3Y Next Business Day - extended ser  Mfg. Part#: 709-8547 Electronic distribution - NO MEDIA Contract: MARKET	1910	8017111	\$48.89	\$93,379.90
Dell 3Y Accidental Damage Service - accidental damage coverage - 3 years -	1910	6640338	\$92.70	\$177,057.00

Mfg. Part#: 848-7432

Electronic distribution - NO MEDIA

Contract: MARKET

GRAND TOTAL	\$1,034,436.90
SALES TAX	\$0.00
SHIPPING	\$0.00
SUBTOTAL	\$1,034,436.90

**PURCHASER BILLING INFO** 

**DELIVER TO** 

Billing Address: AURORA EAST SCHOOLS ACCTS PAYABLE 310 SEMINARY AVENUE

AURORA, IL 60505-4700 **Phone:** (630) 299-5556

Payment Terms: NET 30 Days-Govt/Ed

Shipping Address: AURORA EAST SCHOOLS ANDREW ALLEN 310 SEMINARY

ADMINISTRATIVE CENTER AURORA, IL 60505-5007

Shipping Method: UPS Ground (Indy 1-2 day)

#### Please remit payments to:

CDW Government 75 Remittance Drive Suite 1515 Chicago, IL 60675-1515



## **Sales Contact Info**

Kevin Noreikis | (866) 461-9719 | kevin.noreikis@cdwg.com

## Need Help?



My Account



Support



Call 800.800.4239

## About Us | Privacy Policy | Terms and Conditions

This order is subject to CDW's Terms and Conditions of Sales and Service Projects at <a href="http://www.cdwg.com/content/terms-conditions/product-sales.aspx">http://www.cdwg.com/content/terms-conditions/product-sales.aspx</a>

For more information, contact a CDW account manager.

© 2025 CDW•G LLC, 200 N. Milwaukee Avenue, Vernon Hills, IL 60061 | 800.808.4239

## **VIVACITY**

**EMP+ Warranty** 

Quote # QUO3010374 Expiration Date 3/26/2025 Account # 70957

Project Name Prepared For Sales Representative (1,910) Lenovo 100e G4 w/ 3yr Andrew Allen Ryan Heineman

aallen@d131.org

(612) 268-5063 ryan@vivacitytech.com

**Territory Manager** 

**Estimated Delivery** 

East Aurora School District 131

**Account Name** 

Product	SKU	Quantity	Price	Total Price
	SKO	quantity	THEC	TotalTrice
83G80000US  Lenovo 100e Gen 4 Chromebook - Intel N100/4GB/32GB - Touch - New	83G80000US	1,910	\$240.00	\$458,400.00
CROSSWDISEDUNEW	CROSSWDISEDUNEW	1,910	\$30.00	\$57,300.00
Chrome OS Education License				
VT-3YR-EMPLUS-TS  3-Year Empower Plus Warranty (Touch)  Vivacity Tech EMPOWER+ Warranty: Includes choice of Vivacity case (excludes backpacks) and Blue Light Blocking Screen Protector installed by Vivacity Tech technicians  Available for Education-Grade Chromebooks Covers both manufacturer's defects and accidental damage Priority repair for all covered devices No deductibles, claim limits, or shipping charges Battery and power adapter replaced up to 10% of the covered fleet Theft and loss reimbursements are available with valid police report Self-Maintainer option available  By purchasing a Vivacity Branded Warranty, you agree to the terms and conditions of the warranty. Full T&C's are available on the Dream portal or upon request.	VT3YR-EMPLUS-TS	1,910	\$100.00	\$191,000.00
VT-EMPLUS-SHELL  Empower Plus Warranty Shell Add-on: Extreme Shell-F3 Slide Case for Lenovo 100e G4 Chromebook 11" (83G8 & 83G9 only) - Gray	VT-EMPLUS-SHELL	1,910	\$10.00	\$19,100.00
SVC-CCA Vivacity Tech Chromebook/Case Assembly Service	SVC-CCA	1,910	\$0.00	\$0.00



Product	sku	Quantity	Price	Total Price
VTPART-11BL-GS  Vivacity Tech Blue Light Blocking Tempered Glass Screen Protector for 11.6" Clamshell	VTPART-11BL-GS	1,910	\$0.00	\$0.00
SVC-SPI Vivacity Tech Screen Protector Installation Service	SVC-SPI	1,910	\$0.00	\$0.00
SVC-WG  Vivacity Tech White Glove Service  - Enroll Device in Console  - Update OS to current version (to the date the service is performed)	SVC-WG	1,910	\$2.00	\$3,820.00
SVC-VT-ATAG  Vivacity Tech Asset Tagging Service - VT Provided	SVC-VT-ATAG	1,910	\$2.00	\$3,820.00
FEE-S&H Vivacity Tech Shipping & Handling	FEE-S&H	1	\$0.00	\$0.00

#### Credit Card Payments are Subject to a 3% Convenience Fee

Vivacity Tech reserves the right to assign any order to our vendor Assignment of Funds programs. The programs are a beneficial way for Vivacity to accommodate to education or government end user orders. Please note that under these programs, the remittance address may change and additional paperwork may be required. Should this order be allocated to one of these programs, the Vivacity procurement team will follow-up further communication. We thank you in advance for your assistance in facilitating Vivacity's participation in these beneficial partnership programs. Pricing provided on Quotes expires on the expiration date stated on each Quote or while supplies last. If fing is no longer accurate at the time of purchase your dedicated Account Manager will work with you to create an updated Quote.

\*Assumes four annual payments on an FMV basis. Pricing is intended to be general. Please connect with your sales rep for other leasing options or a specific quote.

Sub Total	\$733,440.00
Tax	\$0.00

Grand Total	\$733,440.00	のない
Lease cost per year*	\$196,195.20	

We're excited about this opportunity to work with you and your school district!

